EE 207 – Winter 2012(112)        
Quiz 6
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           Let the spectrum of the signal x(t) as shown below 

                                 
[image: image1.emf]20 

20  

0

2

() X 



40 

40  

3 3


(a)   What  is the Nyquist rate  ?
(b)    If the signal  x(t)  is sampled  every  20 ms ( 20 mili second)   is there an aliasing ? explain ?
(c)   Plot the spectrum of the sampled signal   
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(show all significant points )
Solution
(a)    Since the maximum frequency content in x(t) is  40  

              →   Nyqyest rate  = 2(4080rad/sec
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